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M3 .1 MIMUINUDVURMAFIUNANABUNIA TA8IT5UBI ACT - 300 ksc
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MaInuMuLsIoalseamasnely 28 1 (ksc) = 300
AgUAI  (mm) = 80-100
e lvgigavesiunly  (mm) = 10
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an. Yuzudlosauaualsziani 1 = 3.15
=
¥IATINALIBEA (N318)
ANUDNTUNIZTIN (1) = 2.64
J 3 4 =<
WoiuAnITAAd (%) = 0.70
TugdanNuazdeAveINI Y = 2.80
WIATINHE (1)
ANUDNTUNIZTIN (1H9) = 2.68
J 3 4 =<
oiFuAnITAdw (%) = 0.50
1 %‘ @ 1
winiminnsziaiu () (kg/m®) = 1,600
PMISAIHINBNILILY
1) MnMgudazva lnajgavesiu ag'la
Y
Y31a (803 / AounIn 1m”) = 225
Ysunaemalaglsues (%) = 3
° = a 4 o o Y @ @ A Y
2) Aanfiinaeuswuannmasdiunuesgalszdomds 300 Kse 3214
@ J 3 a J ¥ @
gas1aIIae Ui Tagumiin = 0.55
Y
Y31an (803 / pounIn im’) = 225
a 4
Y usund (kg /AoUnsa 1m’) = 409




M3 N1 MIMUININUDVURNIAFIUNANABUNTA 1085V ACT - 300 ksc (71D)
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MIMUINBDNUUY

3) MUIBMITNYINIATINHI (HU)
VAT YFAVOINU (mm)
Vnariaguauroy (W) Alduds (m’/aounsa 1m’)

Wsmnariaganauvey (W) N5 (kg/nounia 1m’)

1 (m’) = 225/ 1000

YuFmud (m’) 409/ (3.15 x 1000)
21MA (m’) = 3/100

mamwamuﬁ’q (ﬁu) (m 3)

736 /(2.68 x 1000)

3
UID3INAZIDIALE (MT18) (m ) =1-0.659
WIDIINAZIDIALR (N519) (kg) =0.341 x 2.64 x

1000
o Iy ' a 3
5) agt/iminvesaunanlunounia 1 m
y a
11 (kg 130 A5 )
YuFud (kg)
WIDTIWHNULTT () (kg)
WIDIINAIDIALUN (N519) (ke)

FANHUNNINNA (kg)

10

0.28

736

4) snamfSnavesiasvazidea (N519) tazlmadIundy do ABUNIA Tm’

0.225
0.13
0.03

0.275

0.659

0.341

899

225
409
736
899
2,269




